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One completely shaded grid represents 100%. What percent does
each diagram represent?
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The first year profit for a small business was
%%,000 |and it increased by 76% during the
second year. Represent this situation.

What was the total profit for the second year
as a percent of the first year?
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400 people What does the shaded
represent (one square),
if the total grid
represents 400 people?
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20. A new top-selling DVD is marked 20% off at Discount DVD, where it normally sells for $29.90. The same

disc sells for $28.60 at Value Video, where you have a coupon for 15% off anything in the store. Where would

you buy the DVD? Explain how you decided and be sure to include work to support your answer. e
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